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ELECTROTECNIA SEPTIEMBRE 2014

OPCION A
Cuestion 1.
Solucion:
a)
N?uS
L= ] =4,0212H
b)

1
i=104 > W, :ELiZ = 201,06

Cuestion 2.

Solucion:
B 4
[ 1—
Rs5
LJTSS
(i 4)
0 —/
a)

—20+5/4+10=0—>1=24
Uy =20—2-1=18V
Ug=20—2-1-2-2=14V
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b)
1 2
We =5 CU? =984
c)
Py =20-2=40W
Puszz_ZOW
d)
P, =4W
P, = 8W
P3=OW
P, = 4W
Po=4W

Cuestion 3.

Solucion:
20Q A !
L] T
30 Q 120 Q
v (%)
-110 Q == 60 O
&
O
a)
Ugo =260+ 2-j20 = 126,5018,43 V
b)

U
izz-é?c:4u3a87A
itotal = il + iz = 5,727[124,77 A
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Us = 126,5018,43 + 20-5,727n24,77 = 240,7 121,44V

¢)
Qpobina = i2j20 =60 VAr
d)
Pyoq = 5,727?-20 = 65597 W
e)

Sus1 = (240,7 121,44 )(5,727h — 24,77) = 1376 — j80 VA
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Cuestion 4.

Solucion:
L1
®
RED | L2 CARGA
400V |13 b d TRIF.
50 Hz
N | |
VAN VA
a)
i; = 54,126h — 36,87 4
i, = 28,01 b — 14,044
b)
ltorqr = iy =+ 1= 80,670 — 29,12 A
c)

cos@.= 0,87 (inductivo).
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OPCION B
Cuestion 1.
Solucion:
6
Ao
30 5 30
Bo - ("
a)
S abrerto:
Requivalente = (6 + 3) ) 61313 = 2,250
b)

S cerrado — . Cortocircuito, resistencia equivalente nula.



WWW.academianuevofuturo.com sia7asses

C/ Fernando Poo 5 Madrid (Metro Delicias o Embajadores).

Cuestion 3.

Solucion:
Xc
E@ | .
| I V5
It |}
+
(T AL
R,
a)
i, = 0 =5h—-904
25507
itotal = 7,07h. - 45 A
b)
Us —iZ =50 — U = 506 — 90° V
P =UIl"cosp =50-7,07-cos45 = 249,96 W
c)

S =249,96 —j249,96 VA
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Cuestion 4.

Solucion:
1 400/100 2
. - —
———s Z
l'e -
‘_)!
a)
= =0 = 2,58 —36,869 A
RT3 e Y :
S, =S; — 200+ 150 = 400i1*
iy =0,625h — 36,869 A
b)
Scarga = U =200 + j150 VA = P + jQ
c)

cosep = 0,97



